C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten

1) 8¢9(6+4) 2) 7(5+8-7)+5 X
2.
3.
4.

3 4(2+12-4)+7-6 4 10(11-10+7)+2 i
6.
7.
8.

5 (2¢5)+9-4+15-10 ® (2+10)+2+11-3 o
10.

) (5+11-2)+28:4+8 8) 8(15:3+10-4)+3

9 4+4(5+6) 10) 10(9+9)+10
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Reihenfolge der Operationen Name:

L dsungsschltissel

L 0se jede Aufgabe.

1) 8¢9(6+4)

8+9¢(10)
7210
720

3 4(2+12-4)+7-6
4+(14-4)+7-6
4+(10)+7-6
40+7-6
47-6
41

5 (2¢5)+9-4+15-10
(10)+9-4+15-10
19-4+15-10
15+15-10
30-10
20

) (5+11-2)+28:4+8
(16-2)+28:4+8
(14)+28:4+8
14+7+8
14+56
70

9 4+4(5+6)

4+4+(30)
4+120
124

2) 7(5+8-7)+5
7+(13-7)+5
7+(6)+5
42+5
47

4 10(11-10+7)+2
10e(1+7)+2
10(8)+2
80+2
82

6) (2¢10)+2+11-3
(20)¢2+11-3
40+11-3
51-3
A8

8) 8(15:3+10-4)+3
8+(5+10-4)-3
8+(15-4)+3
8+(11)e3
883
264

100 10(9+9)+10
10(18)+10
180+10
190

Antworten

720

47

41

82

20

48

70

264

124

10.

190
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C:# Reihenfolge der Operationen Name:

L 6se jede Aufgabe. Antworten
70 47 82 720
264 20 48 41 1
1) 8+9(6+4) 2) 7(5+8-7)+5 »
3.
4,
5.
6.
3 4(2+12-4)+7-6 4 10(11-10+7)+2
7.
8.
5 (205)+9-4+15-10 ® (2+10)+2+11-3
7) (5+11-2)+28:4+8 8) 8(15:3+10-4)+3

Geandert 1-8 |88]75|63[50[38|25[13]| 0|
[ Mathe ]WWW_C

ommonCoreSheets.de




	Worksheet
	Lösungsschlüssel
	Geändert

